ER-IERRREE-RR

TMEFSA23BIRE

SEXEE BAMERRE

HEFHR = R
BEH —RAHEHE g
T EZEFLOME |SHMPR
X7 (GBKE) FEMEEEE%E |20
(EWKE) |TERSEREE (264
i mEEHREE |HTIRE=188
sk %ﬁgﬁ*‘ B FJIRE=(12, 17.8)
. BEMIIATR | pe)
R E 5 EE 20m/s
=RE EHRE 20m/s FBEED
XE BEEDRS 1265 E E D ES10cm
KR E )
= 80 BT _
- RE M ERMAE |16
TIERNEEHERE |195
i mEEE%E B TFIRE=15
sk %ﬁgﬁ*‘ B TFIlkiE=(8, 15)
HEMNEATR e
58 i, E 5 EE 12m/s
RE EHRE 12m/s E&+5
xXE BEEDRS 12851 E D ES50m
KR GEY T
ok B
TER £ EEFICKYBEENTEINSEE
= BE
B i [100m
R B/INEE40% TERTE60%
BEEDFEIMN0cmU EHYRDOLT b
—_— 1 BEDFEE0cmLE
- 2 RExuEA2°CLLE
3 MEYDRER
35 BIESE-4°CLLT *2
i BaFEHl mIESUIR3CUT
&k
BEE 24F5 I E MRS 20cm il Lk
= %i8:-2°C~2°C
e PN E TR [120mm

NEREREEYN RERSIER OHEAFSHhEICLSREEERLTILET.

*2 =g
X\/m

TSI TR E DIE,



